5.4 Wilson's Theorem

5/25/2005

1. (a). Find the remainder when 15! is divided by 17.

Since (17-1)! = -1 (mod 17), Then 16! = -1 (mod 17)
But 16 = -1 (mod 17)

- 16! = 16 (mod 17). gcd (16,17)=1,

-- 16-/16 = 16/16 (mod17)

-- 15 = 1 (mod 17)

(6) Find The remainder when 2 (26!) is divided by 29

By Wilson's Ph., 28! = - 1 (mod 29)

:- 28! = 28 (mod 29), Since ged (28,29)=1,

-- 27! =1 (mod 29), : 27! = 1+29 (mod 29)

-: 27!=30 (mod 29), 9.3.26!=30 (mod 29), -: 9-26!=10 (mod 29) Since acd (3,29)=1

- 9.261 = 39 (mod 29)

3-201=13 (mod 25)

-. 3-26! = 13+29 = 42 = 3.14 (mod 28)

:. 26! = 14 (mod 29), : 2.26! = 28 (mod 29)

2. Determine whether 17 is a prime by deciding whether 16! = -1 (mod 17)!

4.8.2.
$$| = 24 = 17 + 7 = 7 \pmod{17}$$

 $| = 5 \cdot 7 = 35 = 2 \cdot 17 + 1 = 1 \pmod{17}$
 $| = 6! = 6 \pmod{17}$,
 $| = 42 = 34 + 8 = 8 \pmod{17}$
 $| = 64 = 68 - 4 = -4 \pmod{17}$
 $| = -36 = -34 - 2 = -2 \pmod{17}$
 $| = -20 = -3 \pmod{17}$
 $| = -33 = -34 + 1 = 1 \pmod{17}$
 $| = -33 = -34 + 1 = 1 \pmod{17}$
 $| = -33 = -34 + 1 = 1 \pmod{17}$
 $| = -33 = -34 + 1 = 1 \pmod{17}$
 $| = -33 = -34 + 1 = 1 \pmod{17}$
 $| = -33 = -34 + 1 = 1 \pmod{17}$
 $| = -33 = -34 + 1 = 1 \pmod{17}$
 $| = -31 = -31 + 1 \pmod{17}$

3. Arrange 2,3,4,.., 21 in pairs to satisfy a b = 1 (mod 23)

Look for 23+1=24, not 2.23+1=47 (prime), <math>3.23+1=70, 4.23+1=73, 5.23+1=116, 6.23+1=138, 7.23+1=162 8.23+1=185, 9.23+1=208, 10.23+1=23111.23+1=254, 12.23+1=271, 13.23+1=300, 14.23+1=323

```
2.12 = 24 = 1 \pmod{23}
     3.8 = 24 = 1
     4.6 = 24 = 1
    5.14 = 20 = 1
    7.10=70 =1
    S.18 = 162 = 1
    |1.2| = 23| = 1
    13.11 = 208 = 1
    15-20=300=1
    17.19=323 =1
4. Show That 18! = -1 (mod 437)
  19/437 sinct 19.23 = 437
By Wilson's Th., 18! = 1 (mod 19)
Must show 23/18! +1
By Wilson's Th., 22! = -1 = 22 (mod 23)
       -: 22!/22 = 22/22 = (mod 28) gcd(22,23)=1
       - 2(! = (=1+2?=24 (mod 23)
        21-20! = 8-3 (mod 23)
                                       gcd(3,28) =/
     - 7-20! = 8 (mod 28)
     -- 7.20.19!=8 (mad 23)
                                       gcd(4,23)=/
        7.5.19! = 2 (mod23)
        7.5.19.18 = 2 (mad 23)
```

```
Pt: For n=4, (4-1)!=3!=6=2 (mod4). -- Assume
           N >4.
          Since n is composite, let n.s=n.
         Since acd (n, h-1) = 1 by prob. #12, sec. 2.2,
1 < r < n-1. ... r must be one of The
          factor of (n-1)!
         Similarly, 1 < s < n-1.
           If tes, then rands are different factors in (n-1)!, so n=rs (n-1)!
              -. (n-1)!=0 (mod n)
           Suppose r=S. -. n= r2
             MNOW r<h. For if r=1, Then
                 n=r2= 1, or 4n=n2, or 4=n
                 But n=4, -. r< =
                \therefore 2r < n, \text{ or } 2r \leq n-1
              . Bith rand 2rtr are factors
                 ot (n-1)!
              r(2r) | (n-1) \cdot | so r^{2} (n-1) \cdot |
              : (n-1)! = 0 (mod n)
6. Given a prime number p, establish
       (p-1)! = p-1 (mod 1+2+ ... + (p-1))
```

Pf.: From Wilson's Th., (p-1)!=-1=-1+p (modp) -. p (p-1)! - (p-1) Now 1+2+ ... + n = n (n+1) for all n. $-1 + 2 + \dots + (p-1) = (p-1)(p)$ Since p-1 is even (p-1)/2 is an integer, and clearly, (p-1) < p-1 Also, (p-1) (p-1)! - (p-1) $-\frac{(p-1)}{2} | (p-1)! - (p-1)$ Also, ged (=1,p)=1 since pis prima. -. p and P-1 divide (p-1)! - (p-1), 50 $p(p-1) = 1 + 2 + \dots + (p-1) \text{ divides } (p-1) - (p-1)$ -. (p-1)! = p-1 (mod 1+2+ -..+(p-1)) 7. If p is prime, prove that for any a,

P | d + (p-i)! a and P / (p-i)! a + a

(a)
$$p \mid a^{p} + (p-1)! a$$

Pf: By corrllary to Fermat's Vh , $a^{p} = a \pmod{p}$,

for any a .

By Wilshis Vh ., $-1 = (p-1)! \pmod{p}$

... By multiplying, $-a^{p} = (p-1)! a \pmod{p}$,

or, $a^{p} = -(p-1)! a \pmod{p}$

... $p \mid a^{p} + q$

Pf: As in (a), $(p-1)! = -1 \pmod{p}$
 $a^{p} = a \pmod{p}$

Multiplying together, $a(p-1)! = -a \pmod{p}$, or

 $p \mid a^{p} = q \pmod{p}$

8. Find two odd primes $p = 13$ s.t. $(p-1)! = -1 \pmod{p^{2}}$
 $5: 4! + 1 = 25$, so $p^{2} \mid (p-1)! + 1$

7:
$$6!+1=721$$
, $7^2 \times 721$

9: $8!+1=403 \ge 1$, $9 \ne 40321$

11: $10!+1=3$, 628 , 801 , $11^2 \times 3,628$, 801

B: $12!+1=479$, 001 , 601 , and $13^2 \mid 479$, 001 , 601

9. Prove for any odd prime, $1^2 \cdot 3^2 \cdot 5^2 \cdot \cdots \cdot (p-2)^2 = (-1)^{\frac{p+1}{2}} \pmod{p}$

F: $1^2 \times 4^2 \cdot p = -(p-k) \pmod{p}$
 $1^2 \times 4^2 \cdot p =$

Section 4.2, proved a beginning of solutions to problems of 4.2, losilled Theorem 2). -i-If a is any integer, $a^2 = |(mod p) = >$ $a^2 = | = 0 \pmod{p}, \quad a \neq l = 0 \pmod{p} \text{ or }$ $a = |(mod p)| \Rightarrow a = |(mod p)| \text{ or } a = -|(mod p)|$ $a^2 = |(mod p)| \Rightarrow a = |(mod p)| \text{ or } a = -|(mod p)|$ In The proof to Theorem 5.5 on p. 100, $(-1) \equiv (-1)^{\frac{p-1}{2}} \left\lfloor \binom{p-1}{2} \right\rfloor \left\rfloor \pmod{p}$ Multiplying both sides by (-1) and $noting (-1) = (-1)^{\frac{1}{2}},$ $\left(-1\right)^{\frac{p+1}{2}} \equiv \left[\left(\frac{p-1}{2}\right)^{\frac{p}{2}}\right]^{2} \pmod{p}$ Now, it p is of the form 4k+3, Then $(-1)^{\frac{4k+4}{2}} = (-1)^{\frac{2k+2}{2}} = 1 = [(\frac{p-1}{2})!]^{\frac{2k+2}{2}} \pmod{p}$.. From above, (P-1)!=/(mudp), or $\binom{p-1}{2}! \equiv -1 \pmod{p}$

(6) if p = 4K+3 is prime, then The product of all The even integers either lor 4. A: Let 2, 4,6,..., a be all even integers <p Consider 2-4-6.... $q = 2^{k}(1-2\cdot3...\frac{q}{2})$, where k = 4 of terms in 2, 9, 6, ..., qSince a/2 = (p-1)/2, Then k = (p-1)/2 $-2.4.6...a = 2^{\frac{p-1}{2}} \left((-2.3...(\frac{p-1}{2})) \right)$ $=2^{\frac{\rho-1}{2}}\left(\frac{\rho-1}{2}\right)!$ By Fernat's Ph., 2 = 1 (mod p), since p/2 as p is an odd prime. -- 2 p-1 = (2 = 1 (mod p), 50 $2^{\frac{p-1}{2}} \equiv \pm (\pmod p)$ Multiplying both sides by $(\frac{p-1}{2})!$ $2^{\frac{p-1}{2}}(\frac{p-1}{2})! = |(mod p) \text{ or } 2^{\frac{p-1}{2}}(\frac{p-1}{2})! = -|(mod p)|$

```
-- From [i] a love,
           2-4-6--a = 1 (modp) or 2-4.6--a=(-1) (modp)
           Mote: above just used D as an odd prime.
Could be of 4x+1 form as well.
11. Obtain two solutions to x^2 = -1 \pmod{29} and x^2 = -1 \pmod{37}
   (a) X \equiv -1 \pmod{29}
        As, 29=1 (mod4), There is a solution, and
The proof of Th. 5.5 shows that
       \left[\left(\frac{p-1}{2}\right)!\right]^{2} = (-1) \pmod{p}. - \pm \left(\frac{2q-1}{2}\right)! = \pm 14!
         -. 14! or -14. is a solution
   (1) x = -1 (mod 37). As 37=1 (mod 4), as in (a),
        12. Show That if p = 4K+3 is prime and a^2+6\stackrel{?}{=}0 \pmod{p},
Then a = 6 = 0 \pmod{p}
```

Pt: Suppose a \$0 (mod p). i. p/a Consider $ax = | (mod p) \cdot By \text{ Th. 4.7, There is a unique solution mod p and so There is a unique integer <math>C \cdot S \cdot t - 1 = C = p-1$ and $aC = | (mod p) \cdot ... \cdot aC = | (mod p)$ From $a^2 + b^2 \equiv 0 \pmod{p}$, after multiplying loth sides by c^2 , you get ac + bc = 0 (mod p). But ac=1 (mod p) $-1. (+6^{2}c^{2} = 0 \pmod{p})$ I. X = 6c 15 q solution to $\chi^2 t / = 0$ (mod p), Which, by Th. 5.5, means p = 1 (mod 4) But This contradicts p = 4k+3 = 7p = 3 (mod 4) . `, a = 0 (modp) The exact same reasoning applies to b, so That b = o (mod p). 13. Supply details in The proof That TZ is irrational.

Pf: Suppose
$$\sqrt{12} = \frac{a}{6}$$
, $\gcd(a_1b) = 1$

Then $a^2 = 2b^2$

$$\therefore a^2 + b^2 = 3b^2$$
, and $\therefore 3 \mid (a^2 + b^2)$, or $a^2 + b^2 = 0 \pmod{3}$

$$\therefore \text{From problem}^{\#} 12 \text{ above, 5 ince 3 is a prime of form } p = 4k + 3$$
, Then $a = b = 0 \pmod{3}$

$$\therefore 3 \mid q \text{ and } 3 \mid b \text{ , contradicting gcol}(a_1b) = 1$$

14. From the odd prime divisors of $n^2 + 1$ are of the form $4k + 1$.

Pf: Let p be an odd prime divisor of $n^2 + 1$

$$\therefore n^2 + 1 = 0 \pmod{p}$$

$$\therefore n$$
 is a solution to $x^2 + 1 = 0 \pmod{p}$, and by $x = 1$ is divisible by $x = 1$.

15. Verify $x = 1$ is divisible by $x = 1$.

15. Verify $x = 1$ is divisible by $x = 1$.

$$\begin{array}{l} \therefore 30.29! \equiv 3! - 1 = 30 \pmod{31} \\ \therefore 29! \equiv 1 \pmod{31} \quad as \gcd(30|31) = 1 \\ \therefore 4(29!) \equiv 4 \pmod{31} \\ \\ 5! = 120 \quad \therefore 4(29!) + 5! \equiv 4 + 120 = 124 \pmod{31} \\ \\ \text{But } 124 = 4.31 \\ \\ \therefore 4(29!) + 5! \equiv 0 \pmod{31} \\ \\ \equiv 31 \mid (4(29!) + 5!) \\ \\ \text{16. For a prime p and } 0 \leq k \leq p + 1, s \text{ how that} \\ \\ k! (p - k - 1)! \equiv (-1)^{k+1} \pmod{p} \\ \\ \text{Pf: } (p - 1)! = 1 \cdot 2 \cdot 3 \cdot \cdots (p - k - 1)(p - k) \cdots (p - 2)(p - 1) \\ \\ \equiv (p - k - 1)! (p - k) \cdots (p - 2)(p - 1) \\ \\ \text{But } p - 1 \equiv -1 \pmod{p} \\ \\ p - k \equiv -k \pmod{p} \\ \\ \\ \text{But } (-k) \cdots (-2)(-1) \equiv (-k)^{k} k! \\ \end{array}$$

$$(p-k)\cdots (p-2)(p-1) = (-1)^{k} k! \pmod{p}$$

$$(p-k-1)! (p-k)\cdots (p-2)(p-1) = (-1)^{k} k! (p-k-1)! \pmod{p}$$

$$(p-1)! = (-1)^{k} k! (p-k-1)! \pmod{p}$$

$$By Wilson's Th., (p-1)! = -1 \pmod{p}$$

$$(-1) = (-1)^{k} k! (p-k-1)! \pmod{p}$$

$$Since (-1)^{k} \cdot (-1)^{k} = (-1)^{k} \pmod{p}$$

$$Since (-1)^{k} \cdot (-1)^{k} = (-1)^{k$$

Similarly,
$$\rho(a^{9})^{2}-a^{9}$$
 and $\rho(a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^{2}-a^$

...
$$4(p-1)! + p+2 = -2 \pmod{(p+2)}$$

 $-4(p-1)! + p+4 = 0 \pmod{(p+2)}$